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EX A MPLE 21

The screw eye in Fig. 2-10a is subjected to two forces, F; and F,.

Determine the magnitude and direction of the resultant force.
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EXAMPLE 22

Resolve the 200-Ib force acting on the pipe, Fig. 2-1la, into
components in the (a) x and y directions, and (b) x’ and y directions.

(a)

D

oo Sin Lo :\:'«a_ 4 200

Ho
K< >F;<= ‘ZooCSSq—o

F = 200 (s yo = 53 T6

Fo-
7

CREATED BY ENG AHMAD SABR| ; +974 5572 4426

Zoe Sin Ho = 124, Tb

2% 156

FOR THE FULL COURSE ,CHECK OUT: http://Lnx-org-in/



EXAMPLE 23

The force F acting on the frame shown in Fig. 2-12a has a magnitude
of 500 N and is to be resolved into two components acting along
members AB and AC. Determine the angle 6, measured below the
horizontal, so that the component F ¢ is directed from A toward C
and has a magnitude of 400 N.
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EXAMPLE 24

The ring shown in Fig. 2-13a is subjected to two forces, F; and F,. If it is
required that the resultant force have a magnitude of 1 kN and be directed
vertically downward, determine (a) the magnitudes of F; and F, provided
6 = 30°, and (b) the magnitudes of F; and F, if F, is to be a minimum.
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*2-8. Dectermine the angle @ for connecting member A
to the plate so that the resultant force of F, and Fjp is
directed horizontally to the right. Also, what is the
magnitude of the resultant force.
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2:25. The log is being towed by two tractors A and 8.
Determine the magnitude of the two towing forces F,
and Fy if it is required that the resultant force have a
magnitude Fp = 10 kKN and be directed along the x axis,
Set 8 = 15°.
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